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What do you mean by the term ‘ligand’?
It is an atom, molecule or ion capable of donating one or more pairs of
electrons 1o the central metal on.

What is a complex ion?

A complex ion is a cationic or an anionic species in which a central metal
cation is linked to a number of ligands

What are complexometric titrations?

Titrations which involve the formation of soluble, undissociated,
complex at the equivalence point called
complexometric fitrations.

What does EDTA stand for and what s its struc

stoichiometric are

e?

Ethylenediaminetetraacetic acid;

HOOCH,C - CH,COOH

> N-CH; N<

CH,

HOOCH,C ™ CH,CO0H

Name the most commonly employed indicator in EDTA titration.
Eriochrome Black T.

What is a buffer solution?

A solution, which can resist the change in its pH on addition of small
amount of an acid or a base is called a buffer solution.

What are chelating ligands?

Polydentate ligands whose structures permit the linkage of two or more
donor sites to the same metal ion simultancously, thereby resulting in the
formation of a closed ring structure, are called chelating ligands.

What do you mean by *hard water?

¢ casily form lather with soan is called |
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What do you mean by *hard water?

Water, which does not casily form lather with soap is called hard water.
‘What is the cause of hardness of water?

It is due to the presence of bicarbonates, chlorides and sulphates of
calcium and magnesium in water,

What type of ligand is EDTA?

It is a hexadentate ligand.

Why does soap not form lather with the hard water?

Soaps are the sodium or potassium salts of the higher fatty acids like
stearic or palmitic acid ete. They generally combine with the hardness
causing cations of the salts and form the insoluble precipitate easily
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Q.12 Why the metal-EDTA complexes are more stable than metal-EBT

complexes?

Ans. The metal-EDTA complexes are stable because the EDTA provides

several sites for the metal ion combinations, which ultimately form the
cage-like structure with the metal and remain isolated from the solvent
molecules.

Q.13 What is the benefit of the hardness determination of the water?

Ans. The determination of the hardness is a very beneficial technique for

various industries, which helps us in finding the quality of the water,
After finding the amount of hardness pre: we can decide where we
can use and how we can eliminate that problem

CEXPERINENT RO .-

him
To find out the amount of dissolved oxygen (D.O.) present in the given water
sample.
Requirements
(a) Apparatus: Burette, pipette, conical flask, dropper, beakers etc.
(b) Chemicals:
1. Sample water, 2. Alkaline KI solution,
3. Starch solution, 4. Conc. HCI

5. MnSO, solution and Hypo solution (N/100) etc.
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